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Read the following instructions carefully before you begin to answer the questions. -
This Bookiet contains questions in Enatish as well 2s in Hindi Language.
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1. This Bookler’contains 200 questions in all comprising the | 1, 5 qieasr
followin%;our-pmli HWT I -
Parl-A: General Intel igence & Reasoning (50 Quastions) NRLF - HigiT W a5 (500
Part-B: General Awarencss (30 Questions) NPT WTH=y ) ((»50 ::;?
Part-C: itative Aptitude (50 Questions) UL qRELTEES HE (50 w2
Part-D: English C:mprehensiun : {50 Questions) WL © 3T R {50 1)
2. In questions set bilingually in English and Hindi language, in | » .- e ; )
case of didcropancy; the English version will prevail 2 gﬂm‘%ﬁﬁ‘ %%?fqﬁh“ e ﬁ?’mﬁﬁ:’f i
3. All questions are compulsory and carry equal marks. 3 o ¥ il Ia.a_ \'“_“F Tis=. 1
4. The paper carries negative niarking. 0.25 marks will be dedsicted | 3- Sﬂ;f;’tﬁﬁaliﬁ AT T aniay 3§ -
for each wrong answer. 4. W UF 1T AEHIcHE 3_!75!.'5!' el e 3ol & fav
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A& CqRT 3R Seerv-u i Jreer O & s il 3wt
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3. You will be supplicd  the. Answer-Sheet separately by - the
lovigitator. You must complete and code the details of Name,
Roll Number, Ticket Number and Test Form Number i the
Answer-Sheet carefully. You must also put your signature and
Lefi-Hand thumb impression on the Answer-Sheet at the
prescribed place  before  you actually stari answering the
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questions. These instructions must be fully complied with, failine | 7 B AW FAMY| 3T 3 ¥ iy T
which, your Answer-Sheet will not be evaluated and you will be 3 ﬁ'-;;}gT samr 3,-:,—,-4;“[ ;nqier 5;—%{‘;[{% s ;gﬁ
awarded *ZERO” mark. ;,gq?g?" 3 I 3iE e sty ’

Amwers must be shown by completely  blackening  the 6. Fear i 3eat Side-ll 3 W weEw ¥ uwd
correspondjng circles on Side-11 of the Answer-Sheet against the | R s wraierg AT F I wRER S

 Answers which are nol shown by Black/Blue Ball-point Pen will

srelevant question number by Black/Blue Ball Point Pen only.
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& machine will read the coded information in the OMR. Answer-

% Jeel. In case the information is incomplete or different from the
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=information given in the application form, such candidate will be gl afg = 3ol ¢ Jrvar Jrdeer g9 A & g
+ awarded ‘ZERO" mark. T F W §, AW el oy sw Rar
- Ahe Answer-Sheet must be handed over to the Invigilator before A AP e .

Zyou leave the Examination-Hall, 8. Tl Bl § wgy ol @ Searufier Be
~Failure fo comply with any of the above instructions will & gant wC Sl wifew] o, -

tender @ candidate liable to such action / penally as may be g

—

F

deemed fit. -

The manner in which the different queslions are lo be answered
has been explained*at the back of this Booklet, which (Page No.
28), which you should read carcfully before actually answering
the questions.

- Answer the questions as quickly and as carefully as you can.

Some questions may be difficult and others easy. Do
too much time on any question. :
No rough work is to be done on the Answer:Sheet. SPACE
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FOR ROUGH WORK has been provided at the back of this | 12,55 1@ it SCA-SRF W adl awxar §1 w o e
Booklet. TR RA-YReawT & 6 Rar war 3 N

13. “Mabile phones and wireless ication devices are | 13, “gfeir grabeat # [ BT AT TR FAR ST
completely banned in the examination halls/rooms, Candidates it Rftz & vemiief Fa# v R # wag &
are advised not to keep mobile phonesiany other wireless 5:3?3?1%‘ TATEH Tl ¥ S5 TOC G &t

t  conununication devices with them even in switched off mode, in Raw i v o) sy T T @ T T
their own interest. Failing to comply with this provision will be HFTTT F B 3 oied F i ar
canisidered as using unfair means in the examination and action XA HT T ER& ?fa 4
will be taken against them including cancellation of their awﬂ’r‘ é#;’?‘__ra Jl%ﬁ FRars T, FEES FEAfar
candidature.” : % T \ =
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GENERAL INTELLIGENCE &

PART-A
REASONING (W% : W IRacal U
aadied) -
' I. How many triangles are lhl:z-'e in the ﬁguﬁ:‘?
5 i # fohae R €7 -
N
(A)28 (B) 20
(€) 24 : ()14

2. Name a single letter, which can be prefixed to the
following- words in :;!rdt:r to obtain enlu‘djr new
words? =l

mmmmﬁtﬁ*{ﬂmﬁaﬂ%mm

F fore Poafafea a=l & ugd a9 s aaar 27 _

TILL TABLE PILE TAB PRING

(AYS .. BB
({OH g mC

/ g [}
Directions :

In the following Six Questions, scleut IJ1¢ relaied
word/letters/umber from the given alicratives.

¢l - Prafafawe wEil #, e oo Reedt o @

wrafeue e/ HaRiREa H1 g |
3. Haematology : Blood - : Phycology : 7
SRRt : Yot - SlareaeT

(A) Fishes / s7esell (B) Discases / 97
(©) Fungi /e (D) Algac / Sharer
i
@i 7 -
(A) 143 (B) 243
(C) 293 (D) 183
5. AEFJ: KOFT ::7:QUVZ
(A) GLKP (B) HLKP
() GKLP () HKQ
i
6. MAN:PDQ::WAN: 7 U
(A) YDQ ~ (B) NAW
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‘.(A"'

(©) 7ZDQ (D) YQD
7. DxH:4x8asMxQ:__7 ol
DxH:4x8a1MxQ: 2 -
(A) 14 % 18 ®B) 13 %17
© 1216 @) 12 %17
8. PadeofLions::__ ?  of ‘}915-. 4
i wrums: F&ﬁu’rmr
(&) Bunch / aeer (B) I-l@rdi @S f
(O Clowder /7azst (D) School /el

9. Identify the diagram thal best represents the
relationship among the classes given below:
Animals, land animals, sea :mlmals

ﬁmmmaﬁfﬁvsﬁﬁﬁﬂéw#m

ﬂa’ﬂ“am—ra‘éﬁm%l

(B)

® Q1D

(C)
10.

If+=x, ==+, x=+ += — then which is the
correct equalmn oul of the l‘oliowmg?

IR +=x, —=+, x= +'=—a’iﬁ7ﬂﬁfﬁﬁﬂﬁ
¥ e a1 FHRROT EH B

(A) 18+6-4 x2+3=26
B) B+6+4-2+3=22
(C) 18 x6-4+7 x§=47 *
M) 18-6x7+2+8=63
Directions :

In the following Five Questiong, select the missing
number from the given responses.

gy : PefRfa s et &, R et # @
A 3ia i iiorT |

1. Select the missing number from the given responses.
ferw e faeedt 3 & oo 3ie wra Afaw
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(A) 18 ®) 16
(©12 @) 17
12. Select the missing number from the given responses.
R a7 et 2 & et 3 e B
7 5 3
8 4 9
2 s )
12 160 162
¥ 12 ®3
{O4 mo

13. Select the missing number from the given responses.

mwﬁ?ﬁﬁ#wmmﬁﬁv!
9 1F 13 -

13 15°17

10 12 14 !

14° 16 18

I 43 <, e i L o
(A) 15 ®)14
{©) 21 (D) 22

4. Select the missing number from the gwa:l TESPONISES. .

e a1 et 7% 2 e 3w i S|

)97 (®) 907

(©) 9107 D) 1097
L]
; :
15. Select the missing number from the given responses.
few are et 3 R e 3i i A
slz|[2]-il [ 5
424] 2] 4] [0

(A) 30 ®)11

(©0 ¢ @)

16, I, + stands for division; * stands for addition; —
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stands for multiplication; + stands for subtraction,
" which of the following is correct?

TG + @ 39 syrer xﬁﬁ_@g# ~ 51 379 aum
Semaiues, a%ﬁm‘i‘%aﬁﬁmﬁﬁv

246 X6+4-5+3="T4
b.46-6+4 x5+3=7]
4646 x4 =5+3=755
d 46 x6 =4+5+3=701

(A)b ®)d

L
-

©c¢ o Hma

17. Which one of the given responses would be a

meaningful order of the following?

ﬁmﬁm##aﬂ—mﬁrwmm?%ﬁ
T W A e 82
1. Blephant . 2 Cat R
3. Mosquito /REBT. 4. Tiger/aTe: 5. Whale/a3er
L @354 ®)2,5,1,4,3
(C)S‘ 2,4,1,5 ®)5,3,1,2, 4
o
])m:cuons 1 .

“In. the' following’ Six - (.}me,stu;)m.H find the odd
word/number/letters/number pair Iiﬂm the given

‘alternatives,
der : Prmiefa 6 gt & Ruaw Rwedi a9
fawa s e e e LH T
18. Find the 6dd word. / faar ereg gfere
(A) Evening / wrf (B) Night /1Ty
(©) Noon / &g - () Moming / yireT:
19. Find the odd number pair. / f3sar gy o gl
(A) 64 : 48 (B) 80:60
(€)% :80 {D)14:78

2. Find the odd letters pair. / fwa7 3¢ 7w |
(A) EDGH (B) CBEF

(C) GFHJ TX(D) HKL

21. Find the odd letters pair. / fawa 3¢ 2p9a7 3|



Downloaded From: http://sscportal.in

(A) HSKP B)DWFU Directions :
' A In the following Two Questions, one statement is
(O KQNN (D)EVHS ’ given followed by two Conclusions, I and I. You

= . o . have to consider the statement to be trugseven if it
; seems to be at variance from commonly known facts.

- -2 Tind the odd ‘number. I favE s ?_I.E-’I'GI Y6u are to decide which of the_given conclusions
. definitely be drawn f
{A) 5061 o ®) -3025 ;:::lwcll;::u :’a wn from the given stalement.
' : fader: ﬁmﬁﬁﬁazmﬁﬁ,wmﬁmw
23

£ida w— | & e st 2 et 1 3 1 v o 2
23. Find the odd word. / Rreer ez v et e Fen § Ry awrer wewr §.ai¢ aF
. i ML WA Ad axat & e adle @1 gt smger

(A) / (B / -
Fraternity / HFS=T Equality / Fam=1am I ¥ B Re e i
(©) Liberty / ¥acisren ) Society / TR fafvaa v & wé frsas Presrar saewar &1 30

=t s et ffese Ao -

Direeti S : 3 ; .
Iul thcm}:llm\mg Two Questions, which answer | 26- Statement : Aggressive animals can be wained with
figure will coniplete the pattem in the question care and affection fo. behave gs the Occassion
figure? demands.

B - PR 2.wwh F shr @ we Conclusions I : 'Irameddogs'bannuibcaggrcsmc

I ¢ Animals are always aggressive unless care and

wgfa e gl & gfawT # qu = 2 affection is given to them.
2. Quesliot; ﬁgure:!&ﬂﬂ‘!l’l%’ﬁ: AT IHAE S 3w ¥ SR
: | EEEER S @ sRior g e 3 s @ R

U

SIT HHT ¢ | £
forsad 1 : wfITRTa et 3mopmves T &1 Tt |

_ M AT GAM AAS el § TR 3o7 9T eqred
Answer figures: / 36 3Hfera T4 o & fean s

@) r;ﬂ (®) Il“ (A) Only I follows. / et s 11 Rraerar 21

. L. : (®B) Neither I nor I follows. / 7 foysee 1 3fte a1 &1 1T

IS N e

(© Both I and It follow. / s 1 3it 11 @it
- Question figure: /| 93T 3T, Twred §1

é_}ﬁ . N ®) Only I follows. / e o | B &

27. Statement : Every school should promote
panners]ups that will increase parental involvement

and participation for promoting the growth of
Answer figures: / Seai 3Tafarar: children. P P &

@) ®) 3 Conclusions I : For the growth of the children,
# parents should be involved in various school
aclivities,

IT : Involvement of parents in school activitics has
no influence o the growth of the children

\
wZ
») -
% % T : gl T A W ¥ g
mﬁvma—nﬁmﬁﬁm%m#m—fﬁm

©
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1 forregrd it smatiardy a3 |
st 1 : azat & R & B am-Rar #
e & B aiafaet # Reder gararie)
I e @Fmﬁﬁﬁa’i#m—ﬁm & %Fﬁﬁrﬁ
& Tt o R SRS Y e
(&) Both I and 11 folloy. / forse 1 3t Il &t
P §1

®) Ounly I follows, /¥ orsa 1 e 21

(©) Neither I nor II folows. / = farsad 1 3 7 @111
GELGiRl

(D) Only I follows. / aet ferserd 1l fevemerar 21

28. Sunita rode hér scooty northwards, then turned left
and thén again_rode to her left 4 km. She found
herself exaetly 2 kms west of her starting point. How

 far did she ride northwards initially?

AT T FHEr o Fee ferem 1 3R a1 | qE aw
e a7t 3R AT 3 A 4 Rt Y S |
3 Fa S 3 A e & 2 Rl o
3 T 39 9T A Se R i Rt gy aw

(A) 6 kn/ foafy (®B) s knv Ty

(©) 2 kn/ fRaly M) 4 kny sy
Directions :

In the following Two Questions, a series is given,
with one term missing. Choose the correct
alternative from the given ones that will complete
the series.

ﬁéﬁ:ﬁmﬁﬁazwﬁﬁ,wm&w&
forerst v g o 81 R e Revedii oF @ ag ad

e e = arepar ol A

2. 3,5,9,17,2.

(A)26 (B) 33

()42 (D) 65
30. 4,6,10,16,24, 2

()34 , ®30

]
©40 LI () ]
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31. In a cortain code "MOUSE” is written as "PRUQC".
How is "SHIFT" wrilten in that code?

Taelt g 3 "MOUSE" @t "PRUQC” fRrer sirar 2
gHrenig 3 "SHIFT" 1 88 T sioam?
@WVIDR  © ' @yRKIVD

(€) VIKRD (D) VKIDR

32. Pinky walks a distance. of 600 mir. towards cast:
turns teft and moves S00_mtr, therr turns 1éft and
walks 600 mir. and then' tufhs left again and moves
500 mir and halts. At what distance in metres is she
from the starting point? - [

Riebr T el 31 600 e ¥ o vl &, R
FEHT 500 AT Towel R, e @ g Al gt 600
#reT el 3k AR & @ A a3t 500 Frex
TG 56 STl @1 G¢ TRk e 2 it et
TR

Aysto. #.. ¥

- ©0 ¥ ) 2200

-} 33. Find out the number of circles in the given figure:

7 T 3 gl s T BT

‘ﬁr (7 N W

Xt k=<t >
©1©)

(A) 14

®) 16

©17 S oy

34, From the given answer figures, seleet the one which
is hidden/embedded in the question figure:
& 7% S aipat 3 & A gl g S
% IR A ph g M - ;
Question figure: / T IS far:

"-kr

E
-
w

. Aﬁswcr figures: fmiﬂm




Downloaded From: http://sscportal.in

(&) :I (B) D

© - 2
Af

Directions :

in the following Two Questions, whlch one set of
letters when sequentially placed at the gaps in the
given letter series shall complete it?

Py : PrRf@a 2 weat &, 3wt & st ar
wﬁlﬁrmwwmﬁﬁﬁﬂém
e S G Ham?

3.9 _ _Oba —-boad ~ _da _ _ed

(A)boedbesb ~ T _ () aabbeedd

(C) cheddeba (D) abeddeba

36. echab _caa _ beec i

(A) babe B)babb

(©) bbba (D) basb

37. Using the following code and key decode the given

mdcd“urd
Code:lL XP ZJ Y QMNB

rr
|

Key: b ae spr h i gt
Coded word : ZBYXMNQB
AFEAfaf@T wig 3 A1 & vy a@ Be aw

I Yeg F el 3 o
#s:L XPZJYQMNB
b2 es pr h i g1
IS e : ZBYXMNQB
(A) struggle

(B) height

(C) slrength (D) straight

38. Thic figure given on the left hand side is folded to

form a box. Choose from the altematives (1); (2), (3)
and (4) the boxes that is similar to the box formed.

ar 3 & a1 IRy Y A w5 e Aer
arar g | R are Jesent (1), 2), @) s @) A3
ﬁwﬂgﬁ‘msﬂaﬁgﬁw%mm
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@@.

{23 3y [y

@ ), G)arﬂ('i)on;}'f(l], @) 3T @) A
®) (2)and (4) only / (2) 3T (@) AT )
© (nmd@)um};{l)aﬁw}m

®) (Z)andmorliyf&)&ﬁ?@)m

39. Choose the correct altuuaim !o c.umpleic the series.

Lily, Daisy, Datura,

@ F Il ma:mwm 7|
forell, 35, ereqar, 2
(A) Hibiscus / IETEY (B)Sun  Flower
(©) Jasmine / T ®) Marigold / ey
40. chenpmnns A B,C,D,E,Fand Gare standing in
~“aslraight line
Disto the right of G.

. .Casbelween A and B.

Eis between I and D. !
There are three persons between G and 3, -
Who is on the extreme left?

waAFd A, B, C, D, E, F 31t G vas diefy 9faq 3
@3l

D, GFer 3R

C,AIRB&HHTFE

EF3iRDEF ST
Gﬁ?BQﬁﬁﬂ'ﬁEﬂ?{E&ﬁaﬁl
fererger am$ 3R ey 3

AG B)B
©D D) A .

41. A piece of paper is folded and cut as shown below in

the question figures. From the given answer figures,
indicate how it will appear when opened.

ﬁmm#mwmﬂ
ﬂ?ﬁmmm*ﬂzﬂﬁf"&m
e St fems an? Py

]

Question figure: / ggaT I@ﬁl‘:

Ll



A) B)

3 3

3 -

«© - L T ]
A L

Directions :

In the following Twe Questions, which one set of
letters when sequentially placed at the gaps in the
given letter series shall complete it?

e - Prriaf@a 2 weat &, e & S @
AR WAl T O FAA @S d & S 3ER

ST G H?
35 a - G - —beed ~ —da _ _od
(A)beedbeab ~ T (B)aabbeedd
*. § == : '
(C) cheddeba (D) abeddeba
36. cchab _caa —beece _a o
(A) babe (B) babb
E(-I') bhba: (D) baab

37. Using the following code and key daoode; the given
mdcdwurd
Code:L X P Z 3 Y QMNB f
Key™ b a g TP 1" g
Coded word : ZBYXMNQB
FrEafafaT Fig 3 @ s s B aw
FIfE e 1 Tpifsa o
;L XPZJYQMNB
W. L8 es pr h i gt
Hifed e : ZBYXMNQB

(A) struggle

(B) heigh!. .

(C) strength (D) straigh

38. The figure given on the left hand side is folded to
form a box. Choose from the alteratives (1); (2), (3)
and (4) the boxes that is similar to the box formed.

mimaﬁéwﬁﬁﬁwmtmm
o g1 B are @eat (1), 2), G) iR @) A7
aﬁwﬂgﬁvﬁaﬁya‘#&ﬂ:ms‘ﬂ
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fﬁﬂ.@.

{2y (3} a)

™

@) m, G}and(d]on:;)rf(l), (3) 3T (@) a1t k
® Qmd@ony/Qaiw@as

© (1)and (@) only / (1) 3t (@) 317y

®) (2)and (3)0n|yf(2)32‘¢(3}m

39. Choose the correct aiu.mauve to comPIctc the serics.
Lily, Daisy, Datura, ___ 7 -

e ﬁ{&mmmmﬁmﬁm

forh, 3ot e, __ 7
(A) Hibiscus ,(-.L[sg; (B) Sun Flower — /
(C) Jasmine / Tdr (D) Marigold / drer

40. Sevenpersons A, BYC, D, E, F and G arc standing in
astraight i:lm:.
D isto the right of G.
- C isbetween A and B.
~ Eisbetween Fand D. . '
" There are three persons between G and I3, B
Whois on the extreme lefi?

wid @ A, B, C, D, E, F 3R G vas ey a5

@3
D, GHzE 3R e
C,AMRBF AT
EFdRD& S
Gaﬁ'{m}rm#eﬁgmﬁv%l
faaee arg IR Sl as
A6 ®)B
D D) A .

41. A piece of paper is folded and cut as shown below in
the question figures. From the given answer figures,
indicate how it will appear when opened.

A e gl A R 3R e A
AITH e aur W & S 98 B 3T
WWMW Yr“‘__s‘l

Question figure: / T3 3 e
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Matrix- | Matrie- [T 19,
g - 1 g - 0 /‘\ °
oli[z]3]4] [ Js]s[7]e]9 é_lui | At -
o|elalcIr|z| [s]£lM]LIn]o < 14 3 O rrotessors fattan®™ )
1|GIR|Z|PlAl {6 LI E|O|MN o o (] Mazxied People /
AERGERIEEREETE I , Seeriee e
s(alcirizl?| [EINlomIE L mmiwd?numba indicates doctors who are not
L ZIPIAIG| |9 IM{L{M]OJE . -
. 4%R e I dear & siwed & queh ¥ A RaRa
(A) 00,66, 14, 32, 56 ®) 12, 88, 43,32, 89 T
(©)00,5522,11,% (D) 13, 77,30, 14,88 @L. . B2
46, In a certain code, 253 means books are old, 546 ©4 @6
means man is old :m.d 378 means buy good books
- What stands for "are " in that code? S0. If a mirror is places on the line M, then which of
ot a1z 1 253 9 T books are old, 546 3 the 8'5“’*’1 figures is thic right image of the given
! s i : _ 1gure
;’;E{”’fﬂlﬂ?ﬁﬁﬁﬂywmf%’“ e v ador  MNYET 9% T IR, at & s
are R I B eTU 3pherat af & et W P el 3Ty
&2 (B)5 : g aRfEagen 0
©6 )4 Quesuog ﬁo::\:;&zlﬁﬂmﬁ
. :
47.°A train starts from station A and reaches B15 | e '
minutes late when il moves with 40 km/hrand 24 | % ;
minutes late when it goes 30 km/hr. The distance i

between the two stations is Answer figures: / et 3o
, 5 XS R A A TeRlT Y el § 3N —
. ug 40 ey ofa s fr afar Toeeh & S 2em B
org 15%&&#@%3%13&30&1@;%
el hr TTa I e g El’fzdﬁ?tz&‘“!@rﬂ‘ﬁ?ﬁ%l
gl R b A gl fraer 27

(A) 16 km /16 et (B) 24 km/ 24 fansly

© 18 km/ 18 Gl )21 km /21 faft

48. Igom the given allemnative words, select the word
. which cannot be formed using the leticrs of the given

word:
fFiaa e 7 @ ag aeg afre, st Reare
am%aﬂwmmaﬁmmm:
CUMBERSOME
* (A)ROME (B) MERCY
(C) MOUSE - (D) SOBER
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PART-B : GENERAL AWARENESS (HTo-& :

AT FAFRY)

S1.. Intemal cconomies / 3faRe sy

" (A) arisc when there is expansion in internal trade.

G EI & e TR SR A ReaR giar &1
arisc when there is expansion in an industry.
dagia ¢ o Rt 3eir o Rean dar &1
arise in an economy as it makes progress.
sfemarm A RN eI
accrue Lo a firm when it expands its output.
ot Y it & ST A 3199 3cug v R
-
52. X-rays canbeused
XAl (wEE-Y) & s B fRar
GETIE

(A)

(B)
©)

)

to deicet defects in precious stones and
diamonds.

agaed qeer 3R A wud aa'anr-mm
for cutling and welding of metals. mgq#r HIce
R Aesar et |

1o detect hcart discascs.fmfm T el FI91T | .

to detcet gold under the earth. ST & i wier
&1 Tl e |

(®)

©
()

“83. The term brown air is used for

o1 31 U 2, 31 19T e Fore fsar sman &2
() Sulfurous smog / We GiT
) Acid fumes / 3reltay g
©) lm;tochmcal_ smog / eI g3t
() Industrial smog / 3iteziifre ﬂjﬁ

. Most commonly used bleaching agent is

HENBET swl'mﬁ W 3 awr ﬁm Fiffeae
cﬁné?

(A) Sodium chloride / IS Felitss

B) Chlorine / Firfier

(©) Alcohol / Topiger

®) Carbon dioxide / Fda e3iFaRE

55. Which of the following river dDCa not originate in
Indian temitory?

. TR 3 3 w7 et s e
T 31k
(A) Mahanadi / Hzma‘r— (B) Brahmaputra / FEATT
(©) Ganga / 711y (D) Santyj / Werers
56. Which of the R‘OHOWiI-I‘g' IQ:H- a Uniml'l Temitory?
e F & e gere g §2
(A) Nagaland siramrels (B) Puducherry ey

© L akshadwecp Haia"cﬁ\'{

M) Padiaand NngarHa\rch EIGY U 9N ga ol

57. The l"a'wbayal Sarmtt remains accountable for its
- functions to

Sare 8 fras ofy 3w @l & B -
| Sraieg i 87
(A) Zilla Parishads / rer aRs
B) The G::lm Panchayats and Gram Sabhas ey
G 3R A e
(© Janpad Panchayats / 577 Garasy
(®) Anchal Panchayats / 3iiae Saraa

58. Which onc of the following animals belongs to
mollusca?

fotet 31 3§ et F Srevat & e Aeear
(A) Haliotis / 3fRE  B) Hare/ weaiiar

——— e

(C) Hydra / grzzr (D) Hyla / grgar

59. Outside the nucleus DNAYs found in
FHEEEH & aigt DNA 3T Biear g?

(A) Endoplasmic reticulum / 3aréedt siforer ;
) Golgi bodies / aireall F1F.

(© Mitochondria / itz

D) Ribosome/ Ti?sﬂ!ﬁ;!‘

60. Photoperipdism affects
diicaetioal i gaaa sar &7
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(A) Fruiting'sd Faes ,
(B) Vegetative growth / aawTid 331 -
(©) All of these / TE {D)Fiouﬁing'!iﬁ'ﬁa:.}_

o : - -
: 61. The maximum fixation of solar energy is done by
1T Froit a7 STeremea Teardietor e am R -
ST e?
(A)Green plants / 3¢ (B) Bacteria / GﬂTqTUT
qieq
(©) Fungi / svaen () Protozoa / diersian

62. The velocity of sound in moist air is more than in dry
air because the moist air has

mwﬁzﬁﬁwhmmﬁmﬁaﬁm
?Em‘rﬁ?mﬁmgﬁ
(A) less pressure than dry air, sa ary & el 3
&1a FH I
(B) less density than dry air. o arg & qelell
TeTcd A il g1 '

I(C) more pressure than dry air. 53 g EﬁT ga?rr 3
# g1e 31f0e giar g |

M more density than dry ajr. {T—‘ci-.‘mg & F_‘FFFHTJZI
Hercd 31fae glar &1

63, Whal happens when a drop of glycerol is added to
crushed KMnQy, spread on a paper?

S 997 WX Hel wgfoa KMaO, 3 Faredia 1
U @ TAeg oIl 8, al ar glar &7
(A) There is a_crackling sollnd, Te@s T 3
gl o
(B) ‘There is no reaction. 15w w1 gl
(€©) The paper ignites. &\TI@WIETWTHT o
(D) There is a violent explosion. ffaes Rewie ghar
gl

64. Kerala 1s famous for the cullivation of

e a2 ¥ v aRig i
1. Coconut / SIe 2. Black-pepper / shali-farst

10

3. Rubber / T@% 4. Rice/ Trae

- @A) 1,2and4/1,230R4 {B)zaarﬁgfz,ssﬂw .

© 1, 2and3/1,23i ®) 1 md 4713874
3

65. The legislature gains apriorily over the executive in
Taenfe o R v & s F St &
(A) A Présidential Goverament / qr;’qua TER
(B) A Parliamentary Govemment / Fedter T
(© An Authoritarian Government / JiTEFRAET
W
D) A Federal Gavcmncmfa"eﬂ:rw 3

66. The h.gtalalu re in 4 democratic ouunlr)r can influence
public opinien by

clleain &2 3 RenreT i a7 ) R TR
R SeaEd 3
' (A)  Focussing attention on public issues @i Biﬁ
YA e |
! B) Granting rights &R Sela &1
(€} Defining the duties of the citizens SR 3
Foredi s AR F|
(D) Enacting non—controversial laws sifdarereTe
Pl FA
67. The ship building yardrMazgqan Dock 1s located at
aiet TAHToT 478 - R S we feua 7
(&) Mumbi /a7a§ ~ 0B) Kolkata / rareerl

(C) Vishakhapatnam / Rena@rgess
@) Kochi / dr

68. The South—East trade winds are attracted towards the
Indian sub-continent in the rainy seasen duc to

aRIvT - gdf carafe gard aier & atwer o
. Wﬂw#ﬁmﬁwwﬁm e
& .
(4) the effect of casterlics

ol ganitd gam |

Downloaded From: http://sscportal.in



©sscrorTALIN Study Kits for SSC ExamS CGL,ECL,DEO

=) Medium: English and Hindi
=) 100% Syllabus Covered R —————
) Previous Years Papers

e

‘M__‘ I—
For More Details Call Course Director : +91 8800734161, 011-45151781

Study Kits for Staff Selection Commission Exams

% Study Kit for SSC CGL EXAM (Tier-1)
http://sscportal.in/community/study-kit/cgl

+ Study Kit for SSC Combined Graduate Level Examination (Tier - 1)
http://sscportal.in/community/study-kit/cgl-tier-2

+» Study Kit for Combined Higher Secondary Level (10+2) Examination
http://sscportal.in/community/study-kit/chsle

< FHARNIANTARTHIFATATAREANIINET (FoX :-1) Fedifare
http://sscportal.in/community/study-kit/cgl/tier-1-hindi

s Study Kit For SSC MTS Examination
http://sscportal.in/community/study-kit/mts

+ Study Kit For Prasar Bharti Examination
http://sscportal.in/community/study-kit/prasar-bharti-exam

+» Study Kit for Central Armed Police Forces (CAPFs) Examination
http://sscportal.in/community/study-kit/capfs

+» Study Kit For Sub Inspector in Delhi Police & CAPFs, CISF (Paper-1)
http://sscportal.in/community/study-kit/si-delhi-police-capf

+« Study Kit of English Language & Comprehension For All SSC Exam
http://sscportal.in/community/study-kit/english-lanquage-comprehension-for-all-
ssc-exam

% Study Kit For Postal Assistant Examination
http://sscportal.in/community/study-kit/postal-assistant

For More Information Click Given below link:
http://sscportal.in/community/study-kit
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http://sscportal.in/community/study-kit/capfs
http://sscportal.in/community/study-kit/si-delhi-police-capf
http://sscportal.in/community/study-kit/english-language-comprehension-for-all-ssc-exam
http://sscportal.in/community/study-kit/english-language-comprehension-for-all-ssc-exam
http://sscportal.in/community/study-kit/postal-assistant
http://sscportal.in/community/study-kit

ONLINE COACHING FOR SSC CGL EXAMS

24x7 E-learning Access
100% Syllabus Covered mm
at just 100 Rs.per month

Discussion Forum, Chat _ FREE
: TRIAL

L O L GRS

Telephonic Support g 4;'(’ =

7 ’.;(J 2
aulast=== (8)SSCPORTAL.IN

SSC CGL Exams Online Coaching
(Starting at just Rs.100 per month) - English & Hindi
Medium

= Online Crash Course for SSC CGL Tier-1 Exam
http://sscportal.in/community/courses/crash-course-for-cgl-tier-1

— THUHHASITT SSC CGL (Tier-1) RedIATETH HTTeTSARIAT

http://sscportal.in/community/courses/ssc-cgl-tier-1-hindi

For More Information Click Given below link;:
http://sscportal.in/community/courses
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GS Foundation Course (PT+ MAINS) for IAS Exam

+* Medium: English

..

% You will Get BOOKS, STUDY KITS, MAGAZINES, :: Price ::T & Mains)
Mock Test Papers, Monthly Magazine, 7 36000 (GS P " pir |
Gist of Important Newspapers, 3 33000 (W;ﬂ;%uExam)

Free Access to Online Coaching at IASEXAMPORTAL o lable”
** Available in Hard Copy

For Any Guidance Call our Expert at +91 7827687693

G.S. FOUNDATION COURSE (PRELIMINARY+ MAINS)

Dear Aspirants,
The Indian Civil Services examination is conducted by the Union Public Service Commission (UPSC) every
year.

The competitive examination comprises of three stages :

e Preliminary Examination — (Objective Test)
e Main Examination (Written )
e Interview Test

The examination schedule is announced during January - February.
The Preliminary held in May-June and the results are announced in July-August.

The Main examination held in October-November and the candidates those who qualify at this stage are
invited to the interview in March-April next year.

We will provide you:

BOOKS

STUDY KITS

MAGAZINES

Mock Test Papers

Monthly Magazine- Civil Services Mentor

Gist of Important Newspapers

Free Access to Online Coaching at IASEXAMPORTAL
Previous Year paper’s with solution

Previous Year question’s trend analysis

Free Login Access worth Rs 1999 for IAS PRE 2015
Free Gist Subscription worth Rs 449

Free Weekly Subscription worth rs 399
TELEPHONIC/EMAIL GUIDANCE WITH COURSE CO-ORDINATOR

For More Information Click Given below link:

http://iasexamportal.com/civilservices/study-kit/ias-pre/general-studies-foundation-course
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General Awareness Magazine for SSC CGL Exam

pics on Vaﬁm;il‘tbly basis.

+¢» You will be provided current affairs on variou:si}%mportal}r
++ Important national and international newsnﬁm various 8

5

at a single platform for your convenience
+» Each and every topic will be given point y
+¢+ Very handy when it comes to various pe

For Any Query Call our Moderato

General Awareness Magazine for SSC CGL Exam

Various Categories:

« National

« International

« Economy

« India And The World

« Sports

o In The News

« Science and Technology

« Burning Issues (Editorials From Different Newspapers)

What You Will Get:

e You will get (12 Issues) PDF Only no Hard Copy
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General Awareness Magazine
for IBPS, Bank Exams

= You will be provided current affairs on RS 399 for
various important topics on a monthly basis. e yal Offer o'y
— Important national and international news (‘“a“g:\m'\ted Time)

from various sources at a single platform for your convenience.
— Each and every topic will be given point wise , making it easier to grasp.
— Very handy when it comes to various competitive exams.....

General Awareness Magazine for IBPS, Bank Exams

Various Categories:

« National

« International

« Economy

« India And The World

e Sports

o In The News

« Science and Technology

« Burning Issues (Editorials From Different Newspapers)

What You Will Get:

e You will get (12 Issues) PDF Only no Hard Copy

For More Information Click Given below link:
http://bankpoclerk.com/community/general-awareness-magazine
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Online Coaching For ALL IBPS Examination

=  100% Syllabus Covered
=  Special Current Affair
p P =  Course Duration : 60 Days

For An Guidance Call : 8800734161, 011 - 45151781

Online Coaching for All IBPS Examination

What You will get:

1. All the relevant and required materials of subjects mention in the syllabus like:

e 100% IBPS Exam Syllabus Covered with MCQs.
o Quantitative Aptitude

e Reasoning Ability

e General English

« Hindi Language

e General Awareness

e Computer Knowledge

2. Special Material based on Current Affair for IBPS Examination

3. Online Tests for Practice will be conducted.

For More Information Click Given below link:
http://bankpoclerk.com/community/online-coaching/ibps-exams



http://bankpoclerk.com/community/online-coaching/ibps-exams

B .
T— Study Kits for Bank PO, CIerk & All Other Bank Exams

#rz Porsonne| Selection Study

Material
e e
State Bank of lndta

Hy VN Thy

IBPS, BANK EXAMS Help an¢ : Call :-011 - 45041881, 011 - 45151781

Printed Study Material, for Bank, SBI, IBPS - PO, Clerk Exams

< IBPS Specialist Officer Exam Study Material - 100% Syllabus Covered
http://bankpoclerk.com/community/study-kit/ibps-specialist-officer

< Printed Study Material for SBI PO Exam 2015 - 100% Syllabus

Covered
http://bankpoclerk.com/community/study-kit/sbi-po

< Printed Study Materials for IBPS-PO (Probationary Officer) Exam
http://bankpoclerk.com/community/study-kit/ibps-po

< IBPS Clerk Study Kit
http://bankpoclerk.com/community/study-kit/ibps-clerk

< Essay Writing Skills Improvement Programme (EWSIP)
http://iasexamportal.com/civilservices/study-kit/essay-mains

For More Information Click Given below link;:
http://bankpoclerk.com/community/study-kit



http://bankpoclerk.com/community/study-kit/ibps-specialist-officer
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http://bankpoclerk.com/community/study-kit/ibps-clerk
http://iasexamportal.com/civilservices/study-kit/essay-mains
http://bankpoclerk.com/community/study-kit

Medium: English
Available on Flipkart.com
Pages: 437 &

Cost: Rs. 350, Rs. 280 All Major Book Stores

B Al R i
St Nt A

Payment Option: Online ¢ .\ 1o ification call us @ 01145151781

Current Affairs for 1AS, Civil Services, SSC, IBPS & All
Other Examinations

BOOK DETAILS

Medium: English

Price: Rs. 356, Rs. 280

Pages: 437

Publisher: Kalinjar Publications

ISBN: 9789351720454

TOPICS OF THE BOOK

National Issues
International Issues
India & the World
Economy

Science and Technology
Sports

Awards & Prizes

In the News

MCQ’s

Click Here to Buy Current Affair in Hard Copy:
. Buy Form Flipkart:

http://www.flipkart.com/current-affairs-civil-services-examination-english-1st/p/itmeftb 7j9z7hkwu?affid=kalinjargm

Buy Form Amazon
ren Examinations/dp/93

. B-uy Form Paytm

https://paytm.com/shop/p/current-affairs-for-civil-services-examinations-9789351720454 20563



http://www.flipkart.com/current-affairs-civil-services-examination-english-1st/p/itmeftb7j9z7hkwu?affid=kalinjargm
http://www.amazon.in/Current-Affairs-Civil-Services-Examinations/dp/9351720454/ref=as_sl_pc_tf_til?tag=upscportal-21&linkCode=as1&creativeASIN=9351720454
https://paytm.com/shop/p/current-affairs-for-civil-services-examinations-9789351720454_20563

Current Public Administration

Indispensable for Public Administration & General Studies

Articles ,Updates & Analysis on: —> Disaster Management
= Ethics and Morality — Society and Culture
= Rural and Urban Development — Other Miscellaneous Topics

— Administrative and other governmental Reports

For Any Query Call our Moderator at: +91 7827687693

Current Public Administration

Indispensable for Public Administration and General Studies

A Monthly Magazine

Dear Aspirants,
We are happy to announce that we have started with a Current Public Administration Magazine, a very
INDISPENSABLE MATERIAL FOR PUBLIC ADMINISTRATION AND GENERAL STUDIES.

Now Everything You Need To Know ABOUT LATEST ARTICLES AND UPDATES, RELATED TO
GENERAL STUDIES AND PUBLIC ADMINISTRATION Can Be Found in a Single Magazine. No need

to move around various places ...this Will Serve You For The Upcoming Civil Services
Examination...(Mains + prelims)

A MONTHLY MAGAZINE:

Compilation of latest Updates, Articles and Analysis On Polity ,Constitution and Governance, Disaster
Management, Society and Culture, Ethics and Morality in Administration, Rural Development programmes,
Miscellaneous topics, and Various reports (Questions for writing practice at the end of every article)

What You Will Get:

e You will get Magazine Article ONLINE Only no Hard Copy

For More Information Click Given below link:
http://iasexamportal.com/civilservices/current-affairs/public-administration
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{(B) the presence of low anuospﬁenc pressure over
North-West India

r‘z—qﬁﬂnm#mwm%gﬁm

(€3 the effect of Northern—East trade mnds
Sead q@ﬁmﬁ—ﬁnﬁﬁ e | -

(D) the development of cyclone over the equator
S TG I AT & a1 |

69. One of the features of a frec market economy is

el TR Frieaaeen i ve fRfRear war 7
(%) rationing and price-control / Trerfaiar 3i ierer
DL
() consumer’s sovercignty / ST WIS

(€) public _dwnership of factors of production /
TG ST ol ol FaTiea

: () active state intervention / T T4 geaalq
0. The longest continental Railway in the world is

ﬁ%aﬁﬁ#aﬁng@ﬂﬂaﬁa‘aﬁaﬁr%"

) (A) Canadian Pacific Railway ﬁT@ﬂ'ﬂ ﬁﬁ:‘cﬁ

fE} Trans Sibéﬁan Railway ;R;rm‘ga‘ﬁwa'iﬂﬂ
(€} Trans Atlantic Railway Zg m‘[ﬁﬂ; Yo (
() Canadian National Railway Seri2aeT e

- -

tod
71. Allantois of Embryo helps in
U1 6T I Rt werae @i d?
(&) digestion / uras (®) protection / FEaror -
() respiration / (G0 (D) excretion / Fegare €
. 72. Which hill stations name means place ef the
thunderbolt?
feeerioiaa & 3 o gdelier e & aimr o 39
qFI €T &2
(A) Darjeeling I (B) Oottacamand /
(C) Shillong / Rieifer (D) Gangtok / a#reia

73. Rearranging 2nd allocating space in memoiy to
provide for multiple compuling tasks is called

11

Feide FEGicd TTEd & forw AR 7 v &
QAT T HTece &l T Fger i

] @ Muhnpmgmnumngﬂ?&’-ﬁmﬁﬂr

®) Multitasking 7o} Hﬁaﬁi

(©) Networking Seafiar s

5
(D) Memory Management H=rsy Heiomic
74. The graded profile of a river course is a
FTCT FET T ‘\ﬁf’m"“ruﬁms'c?w B0
(A) smooth curve in the Tower course.

el 7 f et am

smooth curve in the middle course.
He Bt of Toreiter oo

smooth curve from source to mouth

i A g o e oo

smooth curve in tl.:c upper course.

AR Ry s

75. In Lh, national context; which of the following
indicates Macro Approach?

W%ﬂﬁﬁﬁrﬁ@ﬁﬁ#mqﬁ{
?ﬁ—}wﬁa@fmg?

(A) Tnflation in India, 1 T 9 IET-w

(B) Exports of Mangoes to UK. / Y. 3T @
o
© Income from Railways. / 35/ 3 312

®)
©

)

D) Sales of Bata Shoe Company / @eT §f &9l &
CEE I

76. Agha Khan Cup is related with which of the
following sport event?

3 @i w9 SrEafaiEd 7 O By dv § wgeig
& '
{A) Table Tennis / ¥5ar  (B) Football I geater
b E

{C) Hockey / gler M) Cricket / e

77. Which among the folloting is not a Bretlon Woods
Institution?

ﬁmﬁ%##wm@hwmaﬁﬁ?

(A) Organisation of FEconomic Coopeation and

i)ownloaded From: http://sscportal.in



ONLINE COACHING FOR SSC CGL EXAMS

24x7 E-learning Access
100% Syllabus Covered mm
at just 100 Rs.per month

Discussion Forum, Chat _ FREE
: TRIAL

L O L GRS

Telephonic Support g 4;'(’ =

7 ’.;(J 2
aulast=== (8)SSCPORTAL.IN

SSC CGL Exams Online Coaching
(Starting at just Rs.100 per month) - English & Hindi
Medium

= Online Crash Course for SSC CGL Tier-1 Exam
http://sscportal.in/community/courses/crash-course-for-cgl-tier-1

— THUHHASITT SSC CGL (Tier-1) RedIATETH HTTeTSARIAT

http://sscportal.in/community/courses/ssc-cgl-tier-1-hindi

For More Information Click Given below link;:
http://sscportal.in/community/courses
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Development (O.E.C.D.) :
e gediar va ey Heee (0.E.C.D.)
(B) None of these 3 I S FgT
- . 4©) World Bank fea §% .
®) dnternational Monetary Fund (L MF.) eiséiay -
A PY(ME) .

_78. Theleast penetrating power ray is

FHAGH T diad T Sl @87

- (A) o Ray / o-TToT (B) g Ray [ g—Frtor
(©) X-Ray ! X-frvor (D) b —Ray / b-Frgar

79. The birthday of which of the following leaders is
celebrated as-Teachers Day in India?

PwAfafaa #4 fr dar & seAfeaw s i
Rieren e & w7 FARm Srarg?

(A) Lala Lajpat Rai / Srelr Sioiaera

(B) Dr. C. Rajgopalachari / =f. €Y. .{la?ﬁ'qﬁnﬂrﬁ'
£€) Dr. 8. Radbakrishnan /2. O, qrerrgeorer

‘@) pr. Rajmmpmd(-s‘r’.mma_ e &

80. To whom the e A thing of beauly is a jn}'l’m ever
is attributed?

v fiar 3t &7t 5o v ST PR Ta i R
&

(A) John Keats / 5ileT hiew

(B) Charles Dickens / = e

(©) William Wordsworth / faforas aduas

(D) Jonathan Swifl / Siearerer ﬁ‘«':T‘:E 1

81. Sink hole is a phenomenon of topography.
rer fovr s ey i i wrergefer o art ot
(A) Karst / =17 &1 (B) Plain / sterir
(©) Desert / AT (D) Tundra / ﬁT
82, Match the following = -
I i
A. Ascorbic acid , L. Photosynthetic pigment
B. Chlorophyll

2. Quencher

12
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n

C. Carotenoid 3. Enzyme
D. Superoxide dismutase 4. Vitamin-C
rafatae &1 feme St K

L ;i

A T TR - LA R . -

B. @R fra Trums -

C. &afesias 3. TeongA

D. gut-3itarargs Bwaew 4. Rafa<i

(4) A-4,B-1,C-2,D-3 - (B) A4,B-2,C-1,D3
£

(O A-4,B-1,C-3,D2 (D) A2 B4,C-1,D3

83. Which one of the following pair is nol comectly
matched? =

R e o1 @ e o v e
Hiuen Tsang m - gad
(B) Chanakya — Chandragupta =ToTaR - g
(€)' Akbar = Toddrmal 31Eav — IEwH G

~ (A) Harshvardhan —

“1 ). Vikramaditya = Chaitanya Rsranfacs — daa

34 1f the PréSident wants 1o resign from his office; he
may do so by writing to the :
e aeeufa 39 9e. & QeI & g A 9
ot feraens O &t waa €7

(A) Vice President / 3uqrseqfay
®) Speaker of Lok Sabha / e w91 &8t
(©) Prime Minister / qeyret 3
®) Chicf Justice of India / fIve & 37 wraeier
85, Which of the following is FALSE with respect to
rain water harvesting? / g6t 3¢ §aIg & Wew &
P # & 2T oTara §2 :
(A) Itincreases run-off losses. -
g g1 gl el grieral 1 aer ¢
(B) Ithelps meel iising water demand.
A STl T el g A B qU T H GeAF
LG
(C) Ithelps raising water taﬁ:’}‘
T Sl FH S0 A e g 1

D) Itisadevice of water conservation.
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T S TCETOT &l e 81 90. Hydrogen peroxide is an effective sterilizing agent.
Which one of the following product results when it
86. The award given for ou:tstandmg performance in readily loses active oxygen? t
sporisis - _ BRI SRiFETES U ST e it
wal A 3 gedT ﬁ;ﬁ'ﬂ'ﬁfﬁrﬁﬁﬁﬁ Aq@a "
e ﬂ?:nsﬂaii%? . % | PR o 3 et ar 5o o aRom e
Jy : ¢ o9 W aod SRR Jiaiae @on g s
R DmnacharyaAwa:ﬂfﬂﬂ'iﬁﬁw_ I
(B) Padma Shri Award / T TEHR &) Water/ qralt
(C) Bharat Ratna / IR Tt i (B)_ Nasant }-{ydrog&tg,%@-@aﬁ
M Arjuna Award / 3-!'%?[ QIR (©) Hydrogen / GEEE ey " (M) Ozone/ 3iisier
§7. Flectric current is measured using which of the
following instrument? 91. The greatest king of the Pratihara dvnasty was
fRegs o~ Ao i & @ R | ISeR U o AgEas o sl ur?
: mﬁrafr' ST & fera ST 87 (A) Vatsaraj /aeqgst. (B) Nagbhatia Tl / FTsrg
*(A) Wattmeter / afeafiey ~ (BY Ammeter / 0afiex - S gy I
: (C) Bhoj (Mihir—Bhaj) / sirer (FERRT #ion)
(C) Voltmeter /(D) Anemometer AR W AN '
deciiet e Y Bpoticuc a3t
v $8. What is used to identify whether a data wm‘d Biftan 92."Ec[ui1ibriu1:n price in the market is determiried by the
7 odd or even umber of 1's? 5 o TR A HTere S i fuioT R R smar
maélﬁ%wmwm% Wﬁnﬂﬂﬂﬁf’ﬁ -1 : e : '
i fore fwar mﬁﬂl’m & (A) equality between marginal cost and average
(A Zexobit /3R faz - (B) Siga bit /T Re cost. ¥etici @it IR e v & drr

AT [

(B) cquality between average cost and average
revenue. 3iad @ 3R Jited teee S A

©canybit/FhRe D) Parity bit /4R e

$9. ILis easy lo burst a gas-filled balloon with a needle

than with a nail. It is because HHTEAT
da ’oﬁ“—t GRS U i et # H.é' & e (C) equality between total cost and total revenue.
3T 2 g 87 WY T 3R TR & i g
“(A) ngjl is.more longer than needle. ARG G (D) equality bgtween marginal cost and marginal
T e 3 e g ' revenue. AT T 3R hetfer o b dier
. (}.I) nail exerts more pressure than needie on ‘the sl
balloon. 93. Wheie was the first conference of SAARC (South
e ;'[—sﬂ'l‘ aT 1{5 &y qer & 3w T Asian Association for Regional Cooperation) held?
mg, gat (GToT TRarg e Wl W) & A
J HFRAA a? 3
(©) gas is reactive with the needle. 3% 5 % wrY ol .
. y R SRR S g (A) Kathmandu !HED]E (B) Colombo /@reiar
(D) needle exerts more pressure than nail on the (© Dhaka / amsT '_ A M) New Dehi / @& °
. balloon. T eI G ATGs HI Forell 7 HeH .
gra Tt 6|

s
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" 94, Peroxyacetyl m;:;c;;a _' | @ saw dust is a good conductor of heat. RG]
S Aty AT & geTordh giar g |
(A) Secondary pollutant / iieT SE¥e 99. Jallianwaly incident took placeat "
i B) Vitamind Fzidaw ¢ mmmﬁ R o
{C) Planthormone / qEq gM#HfT - | @) Amitsar/ A (B) Luclmow! CICEEY
@) Acidic dye/ Tfaf3® 575 (©) Allahabad /Fergrare. - () Surat/ 3
95. Who was the Tounder of Lodhi dynasty? * ' :
el o T S T 4 190. Antmal protein is called first dass protein because
B i it ;afqerma*aﬁwmmaﬁmm
LERIEET

®) Jbrahim Lodhi / Zséra arely
(C) Sikandar Lodhi / ﬁflRT alredt

(M) Daulat Khan L(ﬂ]u fa’ia?rma‘r-zj’r

96. Gross National Product — Depreciation Ai.lowai:ée,-—'-.'. '
7 /W TS 3T~ Hr e ge =7

“(A) Personal Income / ‘E‘]'Q'F"a’eﬁ g
B) Per Capita llwm(’-':" FIGEIES 31'I'J
(C] Net N'ittonal Produul ! ?-I'ﬁ?n“ USERT 391G

™ Gross Dom_esuc Product / Tl Tel 3T-q|f;j

97. In 1939 Subhash Chandra Bose was c[ected as
President of the Congress Party defeating

1939 3, [z ar R g e ol &
HERT T AT A7
(A) Jawaharlal Nehru / SaTgReme S5

(B) Pattabhi Sitharamayya / o278 Sraretzar

(C) Maulana Abul Kalam Azad
ST 3l FHATH TG

®) V.B Patd /i wew

98. Ice is packed in saw dust because

s P % 31 e R e 7

(A) saw dust will not get melted easily. quer
3t & Mues @gi &ar

(B) saw dust is poor conductor of heat. ST FoAT
<l Srlleich Gicl o | .

(&) delicious in laste @i 7 TR BT gl
) cheaperin the market STo# wEar e &1
(O) easily digestible =g BT

M) rich in essential amino acids 3ifaarT 3rd=r
TS YR BT |

(C) saw dust docs not stick to the ice. g?lariﬂﬁ? T
TA9ehar aigi 8

14
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PART-C : QUANTITATIVE APTITUDE (3rar-3r
aRtsTonens Ffet)

101. The sides of a triangle having area 7776 sq. em ace
in the ratio 3:4:5. The perimeler of the triangle-is

- 7776 @ A e & v Brager A sea
AT 3:4:5 81 BTt s aRATT rar 7
(A) 412 em (B)432 em

(C) 400 cm (D) 424 cm-

102. A and B together can do a plcct. of work in 6 days.
If' A can alone do the wotk in 18 days, then the
number of days required for B to finish the work is

AsﬂgB@sﬁraﬁaﬂﬁﬂWéﬁ?ﬁﬁmm

o1 e A3 FE 6t I 18 Bet 7 qu a

TRl &, df B 3% 1 &t et Rl o qur st
b HehelT 87

(A)9 ® 15

* Ja
L

©12 H (D) 10

103. 2¢ —ky + 7=0 and 6x —12y + I§0 ]mq o
1 solution for

2x —ky + 7=0 3?1; 6x — 12y + 15=0 & fFus
(A) k=1 ®B)k= -
@k= -1 Dyk=4

104, if x = 332 y = 333, z = 335, then the value of
XY 42— 3ayris
AW e =332,y = 333, 2 = 35§ ar
Xy 2 xyr @ W i
(A) 8000 | (B) 10000

(€) 9000 (D) 7000

105, 729 ml of a nuxture contains milk and water in the
ratio 7:2. How much more water is to be added to
gel a new mixture containing milk and water in the
ration7:37

729 Tavelt @it 3 7:2 % s 7 g i gl
#1 3 fraer o 3R Remr sre R ww

18

PisroT 3 g 3 arelt & 3Tl 7:3 g
(A) 60 ml / 3y (B)?!;pljﬁﬁ'rﬂ
© 51m1 /Tt ®) 81 ml £ Ty

106. The sum of four numbess is 48. When 5 and 1 are
added to lhe fi rst two; and 3 & 7 are subtracted
from the 3™ & 4™ | the numbers will be equal. The
numbers are

mﬂwﬁ—ru‘lﬂés\mmwam&ﬁﬁ
53 1 SEr s, mﬁmﬁaﬁ?ﬂh"rmﬁﬁ
¥ 3 30 7 werr S, a S W g S
FAEACE

(A)G, 10, 14, 18 (B)5 11,13, 19

(©)9,7,15,17 ®) 4,12, 12, 20

L LY

07,91 B-IAsinz"Bt Ithen cos®0+4costn is equal

Io
st sih 0-F5in 29= 1 % @ cos®B+costo
R Geag?
W None / &% w78 (B) sn B
cos™®
Q) cos?p @yl ’
sin B

103. Eighteen years ago, the ratio of A's age to B's age
was 8:13. Their present ratios are 5:7. What is the
present ade of A?

18 7 qge A 31T B Hr 30 1 e 8:13 )
3! 3 T GAHT I 57 §1 A S adera
3y et 37

I
() 60 years /a§ ®) 70 years / &

(©) 40 years /5§ M) 50 years / g%

109. A shopkeeper bought 30 kg of rice at the rate of *
%70 per kg and 20 kg of rice at the rate of T70.75
per kg. If he mixed the two brand of rice and sold
the nuxture at 80,50 per kg, his gain is

Ta gEleaT o 30 R, ARILES 0wt felianer
Hrevd AT 20 e a’rﬁﬁ?ﬂ?ﬁgﬁf’“ﬂ’mm
& X ¥ a1l 7R a5 Aol R & et &
e Sar € 307 18050 ufy fram & e S
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(A) T 450 (B)< 485

(O T 510 _MIsns »
Directions :

Study the following bar diagram oarefully and
answer the following Four Questions: -
The number of the production of electronic items

(TVs and LCDs) in a factory during the period from
- 200910 2013. . i
]
e : et anta &1 eawrie strm
" SR T e 4 wyat a seaR )
w5 therell 3 gdaiio ol @t 3k wahi )
&1 a¥ 2009 | 2013 F e -
: [d7vss2m
- B . BLcosimain
£ 12000
£ 11 poo
i 10000
R
G B
& Tooo
5 oo
i

I10. The ratio of production of TVs in the vears 2009
and 2010 is

Y 2009 301 2010 3 &Y & 3T bt 3reprer
(4)6:7 ®)2:3

-

©76 ¢ (D)32

111. The total number of production of electronic items
15 maximum in the year

golaciiae #gl & Sedree 1 o dear fry af
o Tl 3w 2
() 2013

i

(€) 2010

(B) 2011
(D) 2009

16
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112. The difference between averages of production of

TVs and LCDs from 2009 (0 2012 is
¥ 2009 F 2012 &7 Al 31t wer dh o SemE
& 3ivee 7 sfawd

(A) 700 (B) 800
(C) 200 ®) 600 - .
113, The ratio of production of L.CDs in the vear 201

and201_3 is .. :_ i
a¥ 2011 30T 2013 & v A & 3cme
3T ¢

(A) 3:4 (B) 2:3

(©) 4:3 D) b4

114. A ship after sailing 12 km. towards south from a
particular plage covered S km more towards cast.
Then the straightway distance of the ship from that
plaoe is
US Sighel O T @Rty & gfdor f 3t 12
el Sroraar e & @i ad fr 3RS 5 Rl
AL AT E| S 36 w4 f el g
Tt 87 1

(A) 15 kn/fordy
(O 11 ks

(B 13 /Tt
@) 18 kv/fraly

115, In A ABC, a line through A cuts the side BC at D
such that BD:DC = 4:5, If the area of A ABD =

60 ¢ra?, then thearea of A ADC is

4 ABC 3 o Tt A IR §T 3391 BC 1 D
9G¥ YR e § fF BDIDC=4:5 | 3fy &
ABD T &13%a = 60 W3l 2§, @ ADC &7 3w
Fa1 g7

W) 90 g2 (B) 75 12

(O) s5p el M) 60 opi?

116. If a clock started at noon, then the an
hour hand at 3.45 PM is P
afe T wE A a9gT I e o R, at
mﬁ3w4sﬁatﬂﬁﬁmgwaﬂww

grm

gle tuned by
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®).

(MQ? - 104 -1-“
2

(C)IJZ l“ (D)ll?l'”
2 i 2

117. The length of the portion of the straight line 3x +
-dy = 12 intercepled belween the axes is

T 3y + 4y = 12 & 39 3 T frars Bras

& S 31t & o JEUee S 87
(a7 ®B)4
©3 D)3

118. Allowing 20% and 15% successive discounts, the
- selling price of an article becomes ¥ 3,060 then the
marked price will be

20% 313, 15% i ScaRicar e G F a1g Ueh TE]
a1 fAsra-sea 3,060 g Sar &1 36 Jifea
e fcre gram?

(A) 34,000 (B) 35,000

(C) 74,400 (D)34.500

119, Choose the incorreet relation(s) from the followin” |
frFatales # o $de v T
@) f6+2=5+4f3"
(i) +f6+12 <5413
(i) 6 +4/2 > 5443

@) (i)

.

®) ()

(©) (i) and/3it (iit) (D) @iy andsaftz i)

Directions :

The lollowing pic-chart shows the sources of funds
to be collecied by the National Highways Authority
of India (NLIAI) for its Phase IT projects. Study the
pic-chart and answer the following Three
Quiestions: :

farafafaa a-a & swa & wsdiw Tt
WSO ERT 39 TTOT 1 A aRE et &
fore Wi 3t s awh Tt & @l @) el
4T §1 TR-AIE F Heuga &% 3R Bw av 3
T%al @ Seata: :

17
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(21 LT Tt

Exttr;tgl

4 "
Blarkei
Bormwing
29,952

120. If the toll is to be collected through an outsourced -
agency by alowing a maximum 10% commission,
how much amount should be.permitied to be
collected by the outseurced ageney, so thal the
project is supported 'with T4,910 eroves?

e 10% 51 afiereT QT Sigr Cordh & wrew 3§
TG ARer AT S 3, a @ e
Rl Wi e gt & s iR

TR SRISTT @ 74,910 &g i wErET e
A) 25401 croresfertis (B) % 5,827 crores/ais
O 5316 cores/atiz 1) 26,213 crores/als

121, If NHAT could receive a total of 9,695 crores as
External  Assistance, by  what  percent
{approximately) should it increase the Market
Borrowing to arrange for the shortage of funds?

e ARG & T YA T A A
WEITAT & ¥ A 19,695 ST Wi g @, ar
su e S &3 &7 I 1 & BT aTem w7

fora= widiereT (erameien) ggmmin arfae?

(A) 7.5%  (B)6%

(©) 4.5% (D) 8% '

122. The central angle coma-spomijng to Markel

Borrowing is
TS HOT & I e oA g 0Ty

(&) 52° (B) 137.8°

{C) 192.4° ) 187.2°



123.

If 2+x43 =-2+—1J_3—,l]wnthc simplest value of x
is i
5. =1 ¢
24243 = -
7 2+ xd 2”5% ar x 1 oA AT
FaL?
@) -2 ®)2
O -1 M1

124. The average weight of 15 oarsmen in a boat is |
increased by 1.6 kg when one of the crew, who
weighs 42 kg is replaced by a new man. Find the
weight of the new. man (in kg). '

e At 7715 ATt it aom 3w w16

Re:am. 7 e ¥ v 5909 R 42 Real, arorer arg

U Al & U 9 G AT e B Ay

affad oo ) asy |
(A)43 ®)65

©¢7 (D) 66

125. Walking at'the rate of 4 kmph.a man covers cerlain
distance in 2 hrs 45 min. Running at a speed of 16.5
kmph the man will cover the same distance in how
many minutes?

waﬁauﬁwfmf?rdaaﬁmﬁ#mgawi
AR gl @l 2 € 45 1 F au awar 21 165
Mﬁda#mﬁ#ﬁgﬁguagwﬁam
Gl el =t fBee 3 au s

(A) 45 min/ Fere (B) 40 min/ fRsre

(D) 50 min./ e

©)3s mi_llffﬁ?!:t' -

126. A tangent is drawn to a circle of radius 6 cm from a
point situated at a distance of 10 ¢m from the centre

of the circle. The length of the tangent will be

6 A+l FioTm & e e & F7 R 10 Jah. Prgh

W Rua o fig @ v vt e o

STclt & | T fr orars frair
(A)8 (B) 5 cm

(C}‘M:H (@) 7 cm

18
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127. fm= —4,n= -2 then the value of

MW m=—-4,n=-2% a3 T
m3~3nlui+3m+3n+3n2 +n3i§7§ﬂ il g
-(A) — 126 ) 124
(©) 126 ®) - 124

128. A 10 m long ladder is placed against a wall, It is

melined at an angle of 30° to the ground. The
distance (in m) of the fodt of fhe ladder from the
wall is (Given -..E =1.732) -

W 10 A el W 0 A F wmrEd &
SR 76 A 30° H T g gd f)

AW & o 1 g8 (6. 70 et i
GRS 3=1728)
A)7.32 L ®Es
- (€) 8660 ®) 826

129, Atap ean ety atank in 30 minutes. A second (ap

“caniempty it in 45 minutes. If both the taps operate
. simultapeously, how much time is needed to emply
the tank?

U #Tel 30 fiwre 7 vep & at amelr o gaar |
U GO el 39 45 fBee F @rel ¢ waar 2
Al &t ster wrer-ury @ e S, ar ¥ @
¥l 7 foreremr gorg o

(A) 30 minutes / Fiae (B) 18 minutes / e
(O) 14 minutes / Bz . (®) 15 minutes / fiyse

130. If the arca of a circle is A, radius of the cirdle is r
and circumference of it is C, then

AR, W et %1 1 A B, g o i r i 3k
‘oRfrCEar
A C r (B)1C =2A
& 1
@ ® A_,
4 r

131. Find the value of g
tan 4 tan 43° tan 47° tan §6° &I AT A FL:
@2 ® 2
3
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©1 _ (D)i
2
B 1 xcosB—sin 0 =1, then x2+(’l+x2)sin9
equals
I xcosB-sinB= 1% ar x +(1+x )s.nB
e gea 87
Ao (B)2
© -1 D) 1 

i e B g -
i Hl a.n rg 'o]+n; cf=3,lhen the value
b"+¢” c“+a a‘+b
_ofmis Y
=43 K
N o T
b -H:- c'+a" a +b
mwﬁ?

(4) a7 —p?-¢?

®) 3* +b* +¢?

©) al4p?-¢* M) a?+p*

134. The least number that should be added to 2033 so |

that the sum is exactly divisible by 27:

9055:%&%@&33?%3‘@135&?11%@

e ag 27 & S-8a fassm a7
#)31 (B)28
i (©) 24 )27
1

135. 10% discount and then 20% discount in succession
is equivalent to total discount of

Secriteat 10% i e 30 20% 1 Fe Ho Rpael

@c%ﬂm%’?
®3% (B) 28%
(©24% ®) 15%

13¢. Two chords of length a unit and b unit of a circle
make angles 60° and %0° al the centre of a cirele
respectively, then the correct relation is

U gt @I a Ffere 3R b gfae wrars & e et
gl & o 7 seen: 60° 3R 90° F T S
: T aeT FE?

(A)b=2a - ®, _3

(D} ,hé '\,ﬁa . -

137. The measure of an angle whos¢ supplcm:,nl is threc
times as large as its complement, is

3 ICT T AT F41 § o AT g6 0 &
clieT AT Torcwerr a9 §7
(A) 45° - @B

© b =+/2a

(€) 60° - Yoy

138. A farmer travelled a distance of 61 km in 9 hrs. He
travelled partly on foot al the rate of 4 kmvhr and
partly on bicycle at the rate of 9 km/he The -
distance travelled en foot is

U e & 6L el a9 wel o 4 17
AT 3t Qee ARRHT R et 4 7 @ 3k
STRISE: 5 e .9 et wricy e o arfer ¥ )
3o et gl <A i deer 17

. (B 17 kn/ ety ) ) 16 knm/Refr

(©) 14 kmﬁm' M) 15 km/Rmsh

li“). In 'cc_rlain yem:é a sum of monev iz doubled itself at
6 i % stmple interest p:‘:'r annum, then the required
time will be
B adl & o w6
TEIOT S4TsT 9 g1+ g1 Sireafi?

@1 ch;ﬁ S @) 16 years/ad

1
— % gfgad &
P

(C) 8 years/ae .= D) 10 -g}rcam'a‘%

140. The penimeter of one fage of a cube is 20 em. Its
volume will be - .
waqmmmmqﬁnvzoﬁm%lm _
Hidga= %‘—t’mw )

@) 125 o3 . ®) a0 cm®
%

(0 625 .cq3 (D) 100 o3

141. What is the Anithmetic mean of the first n natural

19

L)
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numbers? ;
T n i WEATHT T HHIG AET F7 67

@ a1 L ® v
2 . 2

©) nn+1D) D)2 +1)
2

142. A square is inscribed in a quarter—circle in such a
manner that two of its adjacent vertices lic on the
tworadii at an equal distance from the centre, while
the other two vertices lic on the cireular arc. If the
square has sides of length-x , then the radius of the
arcleis
Wﬂgﬂhrqa#wmaﬁ THIER O & &
Su Gardet a1 O 3 & waet g W ) Rt
R SR Al N ade geara W Al et
I ST Prears x 8, o gea B ey

A fx. ® 2
o

® 5

2

(©) 16x
4

143. Two poles of height 7 m and 12 m stand on aplane |

ground. If the distance between their feet is 12 m,
the distance between their top will be

U G A O 7 3 I 12 o erd & e
Wt | Afe; 3 ae @ eRer g d 1290 8,

Foeh S O REG i Tttt gl
(A)13m ®)19m
(C)17m (D) 15m

144. In a parallelogram PQRS, angle P is four times of
angle Q, then the measure of £ R is

PQRS FHIGHEIST 3 HI0T P T Q F IR I
%,a’ul{agrmtrwé?

(A)72° (B) 144°

(C) 36° D) 130°

145. The population of a town increases by 5% every
year. I[ the present population is 9261, the
population 3 years ago was "

T TR ST S 3 Y a3 AR
GO SEET 9261 , @1 3 @ gge SeEeEr

a4
(A) 7500 (B) 5700 "
i j_
(€) 6000 (D) 3000 = o

146. The numencal value of

c0s°45  cos?60° tan230° sin 2 30°

= B T — v ——

sin * 60 gin “ 45" cot* 45 cot® 30°
w3 ot

4 4 '
©1 ®) 1

4 2

147, The value of

1 al W 1P
T ¥o=5 -2

1 1
F
e, ' ®) 1
)7 o

8. The maximum value of gin %9 +cos%0 is

sin Y0+ cos*p T ATVwaI AT 2
@M1 i B3
;
© 1 b2
3

149. A pipe can fill & tank in x hours and another can
emply it in y hours. They ean together fill it in (y >
x)
Tk GT3Y U & & x Hel i 9 e # A ues

Heg 9189 39 y Hel F @l ¢ g 21 9 et

fost 38 e wer A g 87 (> )
Ay -« B) zy
x-y
© 1y ®)x -y
y-1I

150. The marked price of a walch was 2720. A man
bought the same for T 550.80 afier gefting two
successive discounts, the [fist being 10%. The
second discount rate is

20
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wﬁwaﬁag\w?ﬂdmwmﬁ?#ﬁ.
Seadiet g e @ 38 X550.80 F wder, #

TEN T 10% ofr gl o Rl 22 P, =
e, f [
. (A)12% (B) 18% . -
(€) 15% (D) 14%
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PART-D : ENGLISH COMPREHENSION

Directions : N
In the following Seven Questions, out of the four
altematives, choose the onc which can be

‘- substituted for the given -words/sentences and
indicate it by blackening the appropriate circle [®] -
in the Answer Sheel.

151. A story in which animals or objects speak and give
wholesome moral lesson.

(A) Parable (B) Allegory

(C) Fable (D) Legend

152. A reclirent-compalsive urge to steal.

(A) Kleptomaria =" (B) Insomnia

[

(C) Nymphomania

(D) Pneumenia

153. Act of injuring anothers reputation by any |

slanderous communication.

(4) Aberration (B) Defamation

(8} Mjsrcprcsmlaljon- (D) Orchestration ™

. 154. Not suitable for eating,

(4) Uneatable (Bj Tasteless

(C) Spicy (D) Inedible

155. Medical study of skin and its diseases.

(A) Gynaecology (B) Dermatology

(C) Endoerinology (D) Prlhopacdjcs

156. A p&;on who enters without any invitation.
(A) Burglar (B) Intruder
(C) Thief (D) Vandal

157. A process involving too much official formality.

(A) Red-Tapism (B) Diplomacy
(C) Bureaucracy (D) Nepotism
Directions :

Read the passage carefully and choose the best
22
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answer to each question out of the four alternatives
and mark it by blackening the appropriate circle [©]
in the Answer Sheet. '

'-F‘P-h. -

PASSAGE (5 Questions)

The instinctive, natural way (o express anger is to
respond aggressively. Anger is a natural, adaptive
response o threats, it inspires powerful, often
aggressive, feelings and behaviours, which allow us
to fight and to defend ourselves when we are
altacked. -On the other hand, we can't physically
lash out al every person or. object thal ‘imitates or
annoys us, laws, social norms=3nd common sense
place limils on how far our dnger can take us,
People use a variety of both conscious and
unconscious processes (o deal with their angry
feclings. The three main approaches arc expressing,
suppressing and calming. Expressifig your angry
feelings in an assertive — not aggressive—manner is
the healthiest way to express anger, Beifig asscitive
doesn't mean being pushy or demanding, it means
being respectful of yourself and others. Anger can

be suppressed, and then . converted or redirected, . -

This happens when you hold in your anger, stop
thinking about i(, and focus on something positive.

438. How does a person naturally express anger?
.(A),. By defending onesclf.
(B) By adapiing strong behaviour.
(C) By responding aggressively.
(D) By inspiring powerful feelings.
159, Which one of the following places limits on how
far we can take our anger?

(A) Feclings (B) Instinct
(C) Behaviour (D) Law
160. According to the alilhor,"how should people deal
with their anger?
(A) Expressing (B) Express it
unconsciously * aggressively
(C) Expressing (D) Express it assertively
consciously
161, How, according to the author, can one suppress
anger? ..
(A) By converting anger. (B) By " holding one's
anger.
(C) DBy redirecting anger. B

(D) By thiukin%about one's anger.
162. What does the author mean by being assertive?
(&) Being calm _ (B) Being respectful
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(C) Being pushy (D) Being demanding
Directions : -

In the dollowing Five Questions, sentences arc
given with blanks to be filled'in with an appropriate
word(s). Four altematives are suggested for cach
question. Choose the correct alternative out of the
four and indicate it by blackening the appropriate
ciicle [@] in the Answer Sheet. .

163. The deserted garden was infested . weeds,
(A) for ' (B) into
(C) with (D) on

164, After }'Oﬁ'r- long illness I am happy to see you

pas——_ |

(A) up and down (B) by and by

(C) up and round (D) up and about ..

165. You must your career with all seriousness.
(A) follow (B) complele
t

(C) pwsuc (D) direct

166. He wenl there
(A) with fool (B) walking on foot

(C) on foot (D) by foot

167. Making pies and cakes Mrs. Reddys

speciality.
(A)is (B) has
_(C} ar:-: (D) were

Directions :
In the following Five Questions, four alternatives
are given for the Idiom\Phrase underlined in the
sentence.  Choose the alternative which best
expresses the meaning of the ‘Tdiom\Phrase and
mark it in the Answer Sheet.

168. When it comes to dancing, he is all-thumbs.

{A) clumsy + (B) a trainer i
i
(C) lazy (D) an expert
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169. The day the new product was launched, people
made a becline to purchase it.

e

(A) rushed (B) refused
(€) were doubtful (D) went on-fine

170. At his wits end, he turned to his old trade,

(A) After careful  (B) Not knowing what (o
thinking e . .
(C) Confidently "= (D) Overjoyed

171. He usually goes to bed*very early and rises with the

(A) al midnight - (B) very laie

(C) after sunrise (D) Very carly

172. Their alicmpt to” get back the stolen necklace
proved tobie a wild-goose chase. ;

~ (A) useless search {B) timely action

(C) Wise decision (D) delayed action
Directions :

In the following Ten Questions, 2 sentence/a part of
the sentence s underlined, Below are given
aliematives to the undeslined part which may
improve the sentence. Choose the correct
temnative. In case no improvement is needed
Fiaclccn the circle [®] comesponding to "o
mprovement”.

173. The second pigeon flew just as the first pigeon had

(A) No improvement (B) had done
(C) one had done (D) one had flown away
L]

174, He is waniing in a little common sense.
(A) is lacking in (8) lacks

(C) No improvement " (D) needs some

175. Water and soil polketants find their entry into the
body through ingestion of contaminated water or
food. ’

(A) injection

of  (B) digestion of



contaminated -

contaminated
{€) No improvement (D) pussage of
” contaminated _ i

176. The old man has ggli;ired experienee thiGugh age.
(A) No fmprovement = (B) experienced

(C) developed experience (D) got experience

177. Mi. Mukherjee knows ten languages, isn't it?
(A) doesn't he (B) doesn't Mr. Mukherjee
(Cy hasn't he () No improvement

178. Tts high time that you go home.

{A) went o T A No improvement
(C) gone _ (D) are goin-g
179. Mumbai is famous because of its textiles.
(A) at  (B) No improvement
(D) n

(C) for

180. He lives far from the station

(A) No improvement (B) off the station

(C) along way from (he station
(D) away from the station

181. Drinking tea is an English habit.
(A) tradition (B) Mo improvement

(C) convention (D) custom

182. They spoke about the weather.

(A) said (B) talked "
(C) expressed ° (D) No improvement
Directions :

Read the passage carefully and choose the best
answer o each question out of the four altematives
and mark it by blackening the appropriate circle []
in the Answer Sheet.
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The crowd surged forward through the narrow
streets of Paris. There was a clatter<of shutters
being closed hastily by trembling hands - the
citizens of "Paris knew that once the<fury of the
_ . people was excited there was-no telling what they
might do. They came to an old house which had a
workshop on the ground floor. A head popped out
of the door to see what it was all about "Get him!
Get Thimonier! Smash his devilish machines!”
yvelled the crowd.
They found the workshop withoul its owner. M.
Thimonier had escaped by. the back door: Now the
fury of the demonstrators ttified against the
machines that were standing in the shop, ready to
be delivered to buyers. They were systematically
broken up and destroyed ~ dozens of them, Only
when the last wheel and spindle had been trampled
under foot did the infunated crowd recover their
Senses.
"That is the end of MSieur Thimonier and his
sewing machines," they said (o one another and
went home satisfied. Perhaps now they would find
work, for they were all. unemployed tailors and
- scamstiresses who believed that their livelihood was
 threatened by that new invention.
183. The aim of the crowd was to
_Thimonter  (B) humiliate Thimonier
away
(C) kil Thimonier
(D) destroy the sewing machines
184. The passage throws light on

(A) how dangerous an invention can be,

B) how a well-meanl invention can be
misunderstood.
(C) why inventions should be avoided.

()" what mischiel ar inventor can do to ordinary
people. g
185. 'f‘hc people thought that
(A) their lives were in danger.
" (B) they would be deprived of their livelihooed
(C) Thimonier was mad.
(D) the sewing machine was dangerous.
186. Shutters were being closed because.the shopkeepers
(A) wanted to altack the crowd. 3
(B) wanted to protect Thimonier.
(C) feared their shops would-Ge destroyed. *
(D) wanted to supporl the crovwd. :
187. The crowd wes protesting against
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(A) the closings of workshop.
(B) the newly invented sewing machine. °
(C) Thimoner for, keeping the invention a secret.

(D) themisdoings of Thimonier. ~ ~
Directions :
in the following Five Questions, some parts of the
sentences have errors and some are correcl. Find
out which part of a sentence hes an error and’
blacken the circle [@] mm:spondiug to the
appropriate correct option. I a sentence is free from

emor, blacken the circle (@] corresponding to "No
Error" in the Answer, Shecl.

188. I really do regret not to learn to play the violin

when I had so many opportunities to leam and
- practice in school.

(A) to-!;:am:axld praclice in school.
(B) Irealtydo regret not to leamn to play the violin
(C) when I had so many opportunities

(D) No crror
189. 1 shall look forward to being with you somelime
niext month. :
(A) No error (B) sometime next month.

(€)1 shall ook forward (D) to being with you

190. The government granled relicl p1ymems of 5,000
each to those who injured in the fire accident.

(A) lothose who injured in the firc accident.
(B) relief payments of 5,000 each
(C) The (D) No error
granted
191. Everyone of us should realise that any act of
negligence will cause a great hamm 1o our countrys
Sr..‘CLlri!)f.
(A) Na crrdr
+ (B) agreat harm to our country's security.

government

(C) any act of negligence will cause
() Everyone of us should realise that
192. By May next year [ have been working in this
college for twenty years. 3
(A) !have been working in this college
(B) for twenly years.
(C) By May next year (D) No error '

Directions : :

in the following Three Questions, choose the word
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opposite in meaning to the given word and n‘ml it
in the Answer Sheet.

193. Tremulous it
{A) Young (B) Healthy .
(C Obese (1) Steady
194, Fake y
(A) Wrong . .(B)Real
SO
(C) Fanciful - (D) ideal
195. Disconsolate
(A) Unprejudiced ) Joyous

(C) Thankiul (D) Prominent
Directions : . !

In the following Three Questions, qut of the four
alternatives, choose the one which best expresses

the meaning of the given word and mark it in the
Answer Sheet.

196. Devout
{A) Loyal (B) Solemn
(C) Dedicated (D) Pious
197. Predilection i
(A) Whim (B) Favom!
{C) Prejudice (D) Preference
193. Effigy
(A) Imagery (B) Dummy
(€) Beflection

(D) Organ

Directions : !
In the following Two Questions, four words are
given in each question, out of which oaly one word
is correetly spelt. Find the comrectly spelt word and
mark your answer in the Answer Sheet.
i |
199. Find the correctly spelj word :
(A) Fasimmile (B) Fasimile
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(C) Facsimile m Faesinﬁlcc

200. Find the correctly spelt word :
{A) Aguarium (B) Acquerium i o

- -

(C) Acquariam ’ (D) Aquaiim
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